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Worksheet -17 Subject: - Mathematics Class: - VI Teacher: - Ms. Neeru
Name: Class & Sec: Roll No. Date:29.05.2020

ExeRrcise 2.5

1. Whichis greater”
1) 050r005 () 070r0.5 (w) 7or(.7 N
v) 1370r149 (v) 2030r230 () 08or0.88.

o

3. Wi the following decimal numbers inthe expanded form;
1) 20,03 (1) 2.3 (1) 200,03 (iv) 2034
6, Writethe place value of 2in the following decimal numbers:

0256 @ 2037w 1025 (v 942 (v 63352

T, Dinesh went from place A to place B and from
there to place C. Ais 7.5 km from B and Bis B

12.7km from C. Ayub went from place A to place YT\
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Decimal Point
Hundredths
Thousandths

Question 5
Write the following decimal numbers in the expanded form:

(i) 20.03 (ii) 2.03 (iif) 200.03 (iv) 2.034

Answer 5:
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Question 6

Write the place value of 2 in the following decimal numbers:

(i) 2.56 (ii) 21.37 (iii) 10.25
(iv) 9.42 (v) 63.352
Answer 6:

(i) Place value of 2in 2.56 =2 x 1 = 2 ones

(ii) Place value of 2in 21.37 =2 x 10 = 2 tens
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Exercise 2.6

1. Find:
1) 02x6 M) 8x4.6 (m) 271 x5 (v) 20.1 x4
(v) 0.05x7 v) 211.02x4 () 2x086

2. Findthe area of rectangle whose length is 5.7cm and breadth is 3 cm.

3. Fnd:
) 13x10 @ 368x10 () 153.7x10  (v) 168.07 x 10
(v) 3LIx100 () 156.01 %100 (1) 3.62x 100 (vai) 43.07 x 100
ix) 05x10  (x) 008x10  (x) 09x100  (xu) 0.03 x 1000

4. Atwo-wheelercovers adistance of 55.3 kmin one litre of petrol. How much distance
willit cover in 101itres of petrol?

5. Find:
(i) 25x03 i 0.1x51.7 () 02x3168  (iv) 1.3x31
v) 05x005 () 12x015 (i) 1.07x0.02
(vii) 1005 x 1.05 (ix) 101.01x0.01  (x) 100,01 x 1.1
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Exercise Ex. 2.6

Solution 1
O 02x%6=x6=-2=12
1010
) Bx46=8x10_20% 4639
10 10
iy 271 5= 2l gl 1302 4ass
100~ 100
Gv) 201 x4=22034=% 504
10 10
@)  0.05x 7= —— x7=—2=0.35
100 100
() QlL0Bxd= SIo02 e HAN0S a8
100 100
86 172

(vit) 2x 086=2x—= =172
100 100
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(i)1.3x10=—;—3,-x16=13 %L Q3

8
(ii) 36.8 x 10 = o x 0 = 368

16
Giii) 1563.7 x 10 = 2237 « 10 = 1537
10
(iv) 168.07 x 10 = 18897 . 16 =1680.7
1009
311
(v) 31.1 x 100 = —= x 100
10

=311 x 10 = 3110

1561
(vi) 166.1 x 100 = —— x 100
10

= 1561 x 10 = 15610

362
(vii) 3.62 x 100 = —— % 100 = 362
}66
(viit) 43.07 x 100 = ——— J.O(f = 4307
,wd
x W0 =

(ix) 0.5 x 10 =

3?6

8 8
(x) 0.08 x 10 = o X 14 = 75 =08
(xi)0.9x100=%X10ﬂ=9x10=90

(xzz) 0.03 x 1000 = —3—3 [ x 1000 =3 x 10 =30
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Q5

Answer
() 2.5%03=22x 3 =12 _0.75
10100
(i) 0.1 x 51.7=Lx317 317 519
10 100
.
(iii) 0.2 x 316.8=—x>168 _6336 _ .. 36
10710 100
(V) 13 x3.1=13,31 403 _ .03
10710 100
(V) 0.5 X 0.05 = —-x—— = —23_ = 0.025
10100 1000
)
(vi) ||.2xo.|5=”'x 15 ='68°=|.680=|.os
10 100 1000
(il) 1.07 x 0.02=197, 2 _ 214 _10214

100 100 10000

1005 105 _ 105525
100 100 10000
101011 _ 10101
100 100

(x) 100,01 x 1.1= 10001 11 _ 110011 _..6011

100 10 1000

(viii) 10.05 x 1.05= =10.5525

(IxX) 101.01 = 0.01 = =1.0101]




